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Section A : (25 points)
Question Number One : (5 points)
Circle the letter of the correct answer:
1. Asiaand Africa ............ still .o rapid rises in population.
a.isshowed b.isshowing c. hasshowed d. are showing
2. My father ............. in America since 2000.
a. has lived b.lived c.isliving d. lives
3. Hanan’s car ............... down while she was driving to Nablus.
a. broken b.breaks  c¢.broke  d.is broken
4. 1f we heard the news, we ............... at home.
a. would’ve stayed  b. would stay  c¢. stayed  d. will stay
5. Rania ............... you an e-mail tomorrow.
a.willsend b.sent ¢ hassent d.send

Question Number Two : ( 5 points)

Write questions for the answers below n parentheses:

O T o) s R U PP (Where / do)
Answer: I work in Dubai.

2 QUESTION f. ettt e et e (How/get/airport )
Answer: Ahmad goes by train .

K0 3 1t o) s OO ( be / Jordan)
Answer: No, I’'m from Palestine.

L0 3 13 Te « LSOO (When / did) ’
Answer: The school started in September. ‘

IR 0T 1o | PP ( How long /did)
Answer: He stayed two weeks in France.

Question Number Three : (5 points)

A: Rewrite the following using the starters between brackets:
1. When did Ali buy the new car? (I'd like to know )

B: Complete the following sentences with the appropriate modal verb from the box :
§ shouldn’t , mustn’t , could , must J

1. To stop the leaking of connections, you ................. turn all taps off properly .
2. You .oooovviiininens eat so much sugar because it’s not healthy.
3. The head teacher .............. come late to school .
Question Number Four : ( 5 peints)

A: Say how things could have happened differently:
1. The driver didn’t see the road sign, so he made an accident.

IE e
2. 1was standing on the edge. I fell down.

T

—————p Cont./2




Humanities & Scientific Streams Paper Two 2008 Page (2) {

B: Complete the following sentences with the suitable verb form between brackets:

1. The children enjoyed .............c.o..eee. the holiday in the countryside . (fo spend / spending)
2. My father promised .......................... me a computer. ( buying / to buy )
3. Shehopes ......oooovivvviviiniinnnn. her family very soon. ( fo join / joining )

Question Number Five : ( 5 points)

Fill in the blanks by choosing the suitable preposition from the box:
Note: (There are more prepositions than needed)
| in , about, at, by , with , of l

1. Classes in Palestine begin ...................... eight o’clock

2.Youneed adegree .................... English to get this job.

3. The meetingisall ............... the important duties of the company workers.
4. How many years .................. experience do I need?
S.1agree............... whatever he says.

Section B : (10points)

From this section , answer two questions only sl 138 (e kB () g 08 cual
Question Number One : ( 5 points)
Use the correct reflexive pronoun to complete the following sentences :
I. You need a haircut . Look at ................ in the mirror.

2. Thepresident .................... visited our school .

3. Nobody helped them . They did the jobby .................. .

4. Rana fell off the bikeand hurt .................. .

5. The question ................ is problematic.

Question Number Tweo :
A: Choose the suitable verb from the box to complete the sentences below :

Note: ( There are more verbs than needed)

suggested , believed , preferred , managed . [
1. Sami.......ocoven to convince us to go for a walk .
200 to watch T.V. last night.
3. They were very bored. Sol....... having a party.

B: Rewrite each sentence with its verb in the passive:
1. These days, young people use the internet very often.

( 5 points)

Question Number Three ;

A: Use who or which to join the following pairs of sentences:
1. Cairo is a city. It is located on the Nile.

( 5 points)

2. 1don’t know the answer. YOu asked me about it.

B: Wme what you would say ﬂ‘ you were in these situations. Use the starters provided:
. A’ friend’ lost his passport and he couldn’t travel abroad.

What about ..o i
2. Fareed is a heavy smoker. He suffers from ill health.

Y ou had Betler oottt ittt ea i aaieaieans
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Literature : ALl Ay e Ay (20 points)

Section A :
L. Circle the correct answer:

1. The banker read the prisoners message .............
a. and promises to be a better person .
b. but he decides to ignore it .
¢. and comes to despise himself .
d. and lets the prisoner go .

2. The poet of ‘Be Strong’ suggests that we should ........
a. faint b. fold our hands c. play d. stand up bravely

3. The poet in * War is Never Over * would agree on the following opinion :
a. There is nothing which is worth fighting a war.
b. Soldiers never forget the battles they fought.
¢. The people who stayed at home suffered more than those who died.
d. Defending freedom costs lives.

2. Decide whether each of the following is True or False :

1. In  the Road Not Taken ’ , it was better to take the path which is less travelled . ( ......... )
2. Goneril in * King Lear * wants Edmund to murder her husband because she wants to marry
Gloucester . (.............. )
3. Cordila’s answer in ‘King Lear * was the same as her sisters” . ( ........... )
3. Complete :
By the terms of the agreement, the only relations the prisoner could have with the outer
world were by .....oooevniiniiinie made purposely for that reason .

4. “ Come let’s away to prison | We two will sing like birds in the cage.”
a. whoisthe speaker 7 .......cooiiiiiiiiiiii
b. who is addressed 7 .....ocovviiiviiinii
c. what makes the speaker happy to goto prison ? .......cocvviiiiiiiiii

Section B:
Answer all the following questions ( 10 points )
1. Why does the banker decide to kill the prisoner. { The Bet )

.........................................................................

2. “Itook the one less travelled by , and that has made all the difference ” ( The Road Not
Taker ) what kind of difference has his choice made ?

...........................................................................

.....................................................................................

....................................................................................
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